A

Pik. = 0,00
Re=35,60

Pik. = 6000
Ree=3440

Pik. = 150,00; Rze = 33,05
PLP = 120,00; KLP = 180,00
R =200000

min: Pik=18000; Ree=33,27
T=3000,8=022

Pik. = 220,00; Rze = 34,10
PLP=214,38; KLP = 225,62
R =500,00

max. Pik=22187; Ree=3407
T=562,8=003
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b
1

Pik. = 300,00; Rze = 33,50
PLP=293,75; KLP = 306,29
R =100000

min: Pk=301,25; Ree=33,52
T=6258=002

Pik. = 410,00; Rze = 34,05
PLP =397 50; KLP = 422.50
R =100000

may. Pik=402,50; Rze=34,00
T=1250,8=0,08
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002
002
000
007
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Pi. = 494,00 Rze = 32,37
PLP=479,00; KLP = 509,00
R =100000

min: Pk=499,00; Rze=3247
T=15,00:8=0,11

Pi.=530,00: Rze = 32,73
PLP = 521,25, KLP = 538,75
R =50000

max. Pik=526,25; Rze=3267
T=8,75,8=008

0
0,08

Pi. = 584,00; Rze = 31,38
PLP = 57275, KLP = 595,25
R =50000

min: Pik=085,29; Rze=31,0
T=1125:B=013

Pi.=62150: Rze = 32,13
PLP = 608,96; KLP = 634,04
R =1000,00

max. Pik=626,%6; Rze=32,08
T=12548=008

C

Pik. = 633,00
Rze=3197
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AOS Spoika z 0.0. Spotka Komandytowa
75-712 Koszalin, ul. Wojska Polskiego 24-26

tel. 094 342 41 66, fax. 094 342 66 53, e-mail: aos@aos.pl, http: //www.aos.pl

Obiekt:

Przebudowa drég gminnych

Adres:

699 obr. Chatupy

Branza:

DROGOWA

Tresé:

Profil A-B-C

Inwestor:

Gmina Swieszyno
Swieszyno 71
76-024 Swieszyno

Data: 06.2019

Skala:1:500

Rys.

Projektowat:

mgr inz. Wojciech tOS  upr. nr ZAP/0146/POOD/14 D 1

Sprawdzit:
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